<BNXY/IN=>

2/7 (B) z25va-u

(2F]

11 BJIFE
12 Bl
14 23461
16 R HIE
17 BK #F
19 BIIFHER
20 NEBX
24 £ 05
29 IVIIZR3A
34 BOEs
35 HURE
38 BETHS
44 KAILfE

48 EXREB3

64 KMES
68 TERE
69 STEAN
014 INERSE
017 QWIWK

(2]

(0] 1 3 4 9 10 23

14 20 34 35 (11 12 17 19

(BF)
27 dRHET
33 LT
45 18 ER
57 HEEA

27 31 33 39 45 57 58 64 68 014 017| 24 29 38 44 | 16
60 65 66 023 48 69
8:30
EEW-UP (3,9,39,023)
9:30
W-UP W-UP csciET
V54V 3 =0
CB CB(fEL)
I—k D
BAER BRER (X1Y) FBE2XREK (D)
N—=RXDI_ZD
oVF

SVFEFH (1,233,10)

(REFF)

1 WBsBA
3 WwHEB=
10 FRAE®R
39 2% X
58 KEFER
60 Hibgett
65 MAX K
66 THARK
023 FRIYHHE

BT

avos«1—

Pand Nk« 51—

A
\/
NI

W
| |
\
3

W.T

(EFFF)
0O WAEE
4 NWF0HEB
O RER:E
23 BEAER

31 WIF5AES

(EalEEES
(@) O—FEm
(N) 39,65,10
(B OD—FEm

s> Y1~

-NEXT STAGE-

[ErlRE « W.T(DJ—F1Em)

«®




